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���"�����% ����� ����'�
�!����% ��)�� ������
����������% ��)�� ������
�����% ��)�� ����'�
#������% ***�*+,-./0.,�1+/-2�-+�34
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�����& ���))
������
***�5.,6+7�-+8
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'��
)�)�
***�1.09:.	,1+,6�-+8;/.60<6.=

�������������������
�
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�	�������
�����
��'�
�������
***�+50.-�+,>

������������
�

? �<	8.0.,

�" �.60,	=
".	0<6>

�"# �+8./0<-
"+0
#	0.,

��� �2.,8+/0	0<-
�	:<	0+,
�	=@.

�! �6>,.//
!,+0.-0<+6

�� �+6@.60<+6	=
5=3.

�� �++8
/.	=.:
5=3.

�;� �+0
	==+*.:

!�� �=.-0,+6<-
!,<60.:
�<,-3<0
�+	,:

�����$ �.	/+6	=
�55<-<.6-A
5+,
�+8./0<-
�+<=.,/
<6
02.
�6<0.:
$<6>:+8

����� �<=
�<,<6>
�.-26<-	=
�//+-<	0<+6
5+,
02.
!.0,+=.38
�6:3/0,A
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�70<6>3</2
	6A
6	4.:
5=	8./

�B.6
*<6:+*/
	6:
:++,/

�*<0-2
+55
02.
	BB=<	6-.
.=.-0,<-<0A
/3BB=A

�/+=	0.
02.
53.=
/3BB=A
0+
02.
1+<=.,

�+60	-0
1+<=.,
.6><6..,


����
���
������

�2.
	BB=<	6-.
-+60	<6/
6+
	/1./0+/
	6:
6+
/31/0	6-./
2	@.
1..6
3/.:
<6
02.
-+6/0,3-0<+6
B,+-.//
02	0
-+60,	@.6.
02.
���""
�.>3=	0<+6/
��+60,+=
+5
�31/0	6-./
"	9	,:+3/
0+
".	=02
�.>3=	0<+6/
�)��
�
#2.,.
	BB=<-	1=.C
02.
��
8	,4
<6:<-	0./
-+8B=<	6-.
*<02
,.=	0<@.
��
�<,.-0<@./�

	����
����������	����
���
��������
�

�+
%-&
/0+,.
+,
3/.
	6A
-+813/0<1=.
8	0.,<	=/
�B	B.,C
02<66.,/C
B	<60/
.0-�

<6/<:.
+,
*<02<6
02.
@<-<6<0A
+5
02.
	BB=<	6-.�

�2.
-+813/0<+6
	<,
83/0
1.
4.B0
-=.	,
+5
-2.8<-	==A
	>>,.//<@.
/31/0	6-./
*2<-2
-	6
-+,,+:.
02.
	BB=<	6-.
	6:
<6@	=<:	0.
	6A
*	,,	60A�

����������������	�����
�

�<00<6>
02.
	BB=<	6-.
	6:
	6A
-+60,+=/
0+
02.
	BB=<	6-.
8	A
+6=A
1.
-	,,<.:
+30
1A
	
-+8B.0.60
.6><6..,
<6
	--+,:	6-.
*<02
02.
,.=.@	60
�6/0	==	0<+6
�.>3=	0<+6/�

�=3.
/A/0.8/
83/0
6+0
1.
8+:<5<.:
<6
	6A
*	A
+02.,
02	6
	/
:./-,<1.:
<6
02.
5<00<6>
<6/0,3-0<+6/�

�6A
8</3/.
+,
36	302+,</.:
8+:<5<-	0<+6/
0+
02.
	BB=<	6-.C
5=3.
+,
	//+-<	0.:
-+8B+6.60/
	6:
/A/0.8/
-+3=:
<6@	=<:	0.
02.
*	,,	60A�
�2.
8	635	-03,.,
	--.B0/
6+
=<	1<=<0A
	,</<6>
5,+8
	6A
/3-2
	-0<+6/C
.7-=3:<6>
/0	030+,A
,<>20/�


����	����

�2.
3/.,
83/0
2	@.
02.
/A/0.8
,.>3=	,=A
/.,@<-.:
1A
	
-+8B.0.60C
D3	=<5<.:
�����
,.></0.,.:
.6><6..,
3/<6>
	BB,+@.:
/B	,./C
0+
2.=B
8	<60	<6
02.
.-+6+8AC
/	5.0A
	6:
,.=<	1<=<0A
+5
02.
	BB=<	6-.�

�2.
	BB=<	6-.
/2+3=:
1.
/.,@<-.:
+6-.
.	-2
A.	,
	50.,
<6/0	==	0<+6
36=.//
02.
<6/0	==	0<+6
-+6:<0<+6/
	6:
3/	>.
:.8	6:
8+,.
5,.D3.60
/.,@<-./�

����������������
���������	���
���

�2.
	BB=<	6-.C
5=3.
+,
/A/0.8
</
<6-+,,.-0=A
5<00.:C
5	3=0A
+,
:	8	>.:

�2.
5=3.
0.,8<6	=
+30=.0
5<00.:
+6
02.
+30/<:.
*	==
+,
,++5
</
+1/0,3-0.:
+,
:	8	>.:

�2.,.
	,.
538./C
53.=
=.	4/
+,
53.=
/8.==/
5,+8
02.
53.=
/3BB=AC
	BB=<	6-.
+,
5=3.
/A/0.8

�2.
/A/0.8
</
.8B0A
+,
5,+9.6

�2.
-+6:.6/	0.
B<B.
</
1=+-4.:
+,
,./0,<-0.:

�2.
	BB=<	6-.
-=.	,	6-./
	,.
<6	:.D3	0.

�2.
	<,
/3BB=A
</
,./0,<-0.:
+,
@.60/
:	8	>.:�
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�2	64
A+3
5+,
B3,-2	/<6>
	
�,..6/0	,
+<=�5<,.:
-+6:.6/<6>
1+<=.,
5,+8
#+,-./0.,
�+/-2�
�2.
-+8B	6A
B,<:./
<0/.=5
+6
8	635	-03,<6>
1+<=.,/
0+
02.
/0,<-0./0
D3	=<0A
-+60,+=
/0	6:	,:/
02,+3>2+30
.@.,A
/0	>.
+5
B,+:3-0<+6�

#+,-./0.,
�+/-2
2	/
=.:
02.
5<.=:
<6
<66+@	0<@.
	BB=<	6-.
:./<>6
	6:
B.,5+,8	6-.
5+,
8+,.
02	6
'�
A.	,/�
�2</
2.,<0	>.
8.	6/
	==
B,+:3-0/
	,.
+5
.7-.B0<+6	=
D3	=<0A
	6:
B,+@.6
,.=<	1<=<0A�

�2.
-+6:.6/<6>
,	6>.
<6
B	,0<-3=	,C
</
.70,.8.=A
.6.,>A
.55<-<.60C
-+6@.,0<6>
8+,.
+5
02.
53.=
-+6/38.:
<60+
2.	0
+55.,<6>
A+3
.-+6+8<-	=
,366<6>
-+/0/
	6:
@	=3.
5+,
8+6.A�
�0
/<0/
<6
����$
1	6:
�C
	0
02.
0+B
+5
02.
.6.,>A
,	0.:
	BB=<	6-./
	@	<=	1=.�

�2.,.
</
	=/+
02.
	//3,	6-.
+5
+3,
6+�6+6/.6/.
B	,0/
	6:
=	1+3,
>3	,	60..
�
1	-4.:
3B
1A
E#+,-./0.,
�+0	=
�+@.,EC
	6
+B0<+6	=
-+8B=.0.
8	<60.6	6-.
/-2.8.
0+
4..B
A+3,
1+<=.,
+B.,	0<6>
	0
B.	4
-+6:<0<+6
	6:
.55<-<.6-A�

�+
5<6:
+30
8+,.
	1+30
#+,-./0.,
�+/-2C
3/.
02.
E�+60	-0
�65+,8	0<+6E
/2+*6
+6
02.
<6/<:.
5,+60
-+@.,�

�&��������
�����
��
��������

�&��������
�����
��
��������
.
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�.	:
02./.
<6/0,3-0<+6/
-	,.53==A
0+
>.0
02.
1./0
5,+8
A+3,
	BB=<	6-.�

	�������
�������
�
���
�

�3,<6>
02.
5<,/0
5.*
2+3,/
+5
+B.,	0<+6
+5
02.
-.60,	=
2.	0<6>
/A/0.8C
-2.-4
02	0
	==
,	:<	0+,/
	,.
1.<6>
2.	0.:
	0
	6
.@.6
,	0.�

�5
02.
0+B
+5
	
,	:<	0+,
</
	0
	
=+*.,
0.8B.,	03,.
02	6
02.
1+00+8
02.6
<0
/2+3=:
1.
@.60.:
1A
,.=.	/<6>
	<,
02,+3>2
02.
@.60<6>
/-,.*
	0
02.
0+B
+5
02.
,	:<	0+,�
�/4
A+3,
<6/0	==.,
0+
/2+*
A+3
2+*
02</
</
:+6.�
�.B.	0.:
@.60<6>
*<==
,.:3-.
02.
D3	60<0A
+5
*	0.,
<6
02.
/A/0.8
	6:
02</
83/0
1.
,.B=.6</2.:
5+,
/	5.
	6:
/	0</5	-0+,A
+B.,	0<+6
+5
02.
	BB=<	6-.�

#2.6
.7-.//<@.
@.60<6>
+,
*	0.,
=.	4/
	,.
5+36:
<6
02.
/A/0.8
A+3
83/0
-+60	-0
	
/.,@<-.
.6><6..,
0+
<6/B.-0
02.
<6/0	==	0<+6
	6:
,.-0<5A
	6A
5	3=0�

�6=A
3/.
	::<0<@./
-+8B	0<1=.
*<02
02.
	BB=<	6-.
	6:
/A/0.8�
�/.
+5
<6-+8B	0<1=.
	::<0<@./
-	6
-	3/.
:	8	>.
	6:
*<==
<6@	=<:	0.
02.
	BB=<	6-.
>3	,	60..�


������ ��!"#$�%&%!�'%�

#2.,.
02.
	BB=<	6-.
</
5<00.:
0+
	
/.	=.:
2.	0<6>
/A/0.8
A+3,
<6/0	==.,
*<==
<65+,8
A+3
+5
02.
8<6<838
	6:
8	7<838
B,.//3,.
*2<-2
83/0
1.
<6:<-	0.:
+6
02.
B,.//3,.
>	3>.�

�.>3=	,=A
-2.-4
02.
B,.//3,.
</
8	<60	<6.:
	6:
-+60	-0
A+3,
<6/0	==.,
+,
8	<60.6	6-.
.6><6..,
<5
02.,.
</
	
6+0<-.	1=.C
B.,8	6.60
:,+B
<6
B,.//3,.�
�5
02.
/A/0.8
=+/./
B,.//3,.
<0
/2+3=:
1.
,.B,.//3,</.:
	6:
02.
-	3/.
+5
02.
5	==
<6@./0<>	0.:�

	�����
����

�2</
</
	
2<>2
.55<-<.6-A
	BB=<	6-.
3/<6>
-+6:.6/<6>
0.-26+=+>A
*2<-2
*<==
36:.,
6+,8	=
+B.,	0<+6
B,+:3-.
	
,.>3=	,
:</-2	,>.
+5
-+6:.6/	0.
0+
:,	<6
	6:
	0
0<8./C
><@.
+30
	
B=38.
+5
*	0.,
@	B+3,
5,+8
02.
5=3.
0.,8<6	=�

������
����
����

�
,++8
0.8B.,	03,.
-+60,+==.,
83/0
1.
5<00.:
0+
-+60,+=
02.
-.60,	=
2.	0<6>�
�.5.,
0+
02.
<6/0,3-0<+6/
/3BB=<.:
*<02
02.
02.,8+/0	0
5+,
<65+,8	0<+6
+6
/<0<6>
	6:
/.00<6>�

�
����
����	���������������
�

�0
</
,.-+88.6:.:
02	0
02</
0AB.
+5
@	=@.
</
5<00.:
0+
	==
130
+6.
+5
02.
,	:<	0+,/
�+,
	0
=.	/0
02+/.
<6
02.
/=..B<6>
	--+88+:	0<+6
�
�2.
,.8	<6<6>
,	:<	0+,C
*2<-2
83/0
1.
*2.,.
02.
,++8
02.,8+/0	0
</
=+-	0.:C
/2+3=:
1.
36�-+60,+==.:
	6:
83/0
1.
=.50
+B.6�
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�2</
1+<=.,
</
+6=A
/3<0	1=.
5+,
<6/0	==<6>
<60.,6	==A
*<02<6
	
B,+B.,0A
	0
	
/3<0	1=.
=+-	0<+6
+60+
	
5<7.:
,<><:
6+6�-+813/0<1=.
/3,5	-.
	0
=.	/0
02.
/	8.
/<9.
	/
02.
1+<=.,
	6:
-	B	1=.
+5
/3BB+,0<6>
02.
1+<=.,
*.<>20�

�2.
1+<=.,
</
6+0
/3<0	1=.
5+,
.70.,6	=
<6/0	==	0<+6
36=.//
	
/3<0	1=.
.6-=+/3,.
</
B,+@<:.:�

�++5
/B	-.
<6/0	==	0<+6/
83/0
53==A
-+65+,8
0+
���'��
B	,0
�
/.-0<+6
'���)

������������

�<,
@.60/
83/0
1.
536-0<+6	=
	0
	==
0<8./
	6:
02.
	<,
/3BB=A
83/0
6+0
1.
,./0,<-0.:
+,
-+60	8<6	0.:�

�2.
	BB=<	6-.
-=.	,	6-./
83/0
8..0
02.
8<6<838
/2+*6
+BB+/<0.
5+,
/.,@<-<6>
	6:
@.60<6>
B3,B+/./�

����������	
��
��	�����
�������������������
�������	��
���������
���	��������������
�������������
���
��
�	�
	�
����������	��
����

�+
6+0
B=	-.
-=+02./
+,
+1F.-0/
0+
2<6:.,
02.
	<,
-<,-3=	0<+6
,.D3<,.:
1A
02.
	BB=<	6-.�

�+6@.60<+6	=
5=3.
	BB=<	6-./
,.D3<,.
	6
	:.D3	0.
/3BB=A
+5
5,./2
	<,
*2<-2
83/0
1.
:.=<@.,.:
0+
02.
1+<=.,
5+,
-+813/0<+6
B3,B+/./
02,+3>2
	
B.,8	6.60
<6=.0C
/3-2
	/
	6
	<,
1,<-4C
<60+
02.
	,.	
*2.,.
02.
1+<=.,
</
/<03	0.:�

���88

(��88

�88G

�88G

(��88����88

��
��
8
8

	(#)�#!"(#���*�+����,,�"�#-�%�

�<6<838
	,.	
+5
	<,
<6=.0
5+,
-+813/0<+6%

���-8H
5+,
��;��4#
	BB=<	6-./�
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�5
	
-3B1+	,:
+,
-+8B	,08.60
*2<-2
</
0+
1.
3/.:
5+,
/0+,	>.
+,
	<,<6>
</
13<=0
	,+36:
02.
	BB=<	6-.
	50.,
<6/0	==	0<+6
02.,.
83/0
1.
	
6+6�-+813/0<1=.
B	,0<0<+6
	,+36:
02.
1+<=.,�
�3,02.,
<65+,8	0<+6
-	6
1.
5+36:
<6
��
�'��
*2<-2
	=/+
:./-,<1./
@.60<6>
,.D3<,.8.60/�

��#!"#$�-(',�.!'�#!%�

I �.60<=	0<+6
83/0
1.
B,+@<:.:
5+,
1+<=.,/
5<00.:
<60+
-+8B	,08.60/
	/
:./-,<1.:
<6
��
�'��

I �
8<6<838
+5
�
	<,
@.60/
83/0
1.
5<00.:C
+6.
	0
=+*
=.@.=
	6:
	6+02.,
	0
2<>2
=.@.=
+60+
02.
/	8.
*	==
3/<6>
02.
/	8.
	<,
5+,
-<,-3=	0<+6�

I �,..
	<,
83/0
6+0
1.
0	4.6
5,+8
	
,++8
+,
<60.,6	=
/B	-.
-+60	<6<6>
	
1	02
+,
/2+*.,
	6:
83/0
6+0
-+8836<-	0.
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